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How many sweets?
Nouns - countable and uncountable
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1. What's the word?

Write the word under the pictures.

apple egos cheese milk rice bread

grapes pasta orange juice sandwich tomato sweets

4]0]0 (6 sandwich

milk tomato eggs Sweets bread grapes
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2. True or false?

Watch the video. Circle true or false for these sentences.

a.  Kitty and Gran have an apple. false
b. They have somerice. trve false
c. Theydon’t have any grapes. trve false
d.  They have some apple juice. trve false
e.  They decide to make a sandwich. trve false
f.  Kitty can have five sweets. trve false
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pasta
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Sweets
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eggs
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tomato
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milk

Mobile User
bread

Mobile User
grapes
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orange juice
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cheese
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sandwich
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rice
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3. Where does it go?
Watch the video. Write these words in the correct group.
apples egos cheese milk rice bread
grapes pasta orange juice sandwiches tomatoes sweets
countable nouns uncountable nouns
apples
cheese
eggs milk
grapes rice
sandwiches bread
tomatoes pasta
sweets orange juice

4. Write and draw!

sentences!

What's in your cupboard? What's in your fridge? Draw pictures and write

| have a eggs . | have a same water .

| have same grapes .

| don’t have any cheese .

| have a sandwiches
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cheese 
milk 
rice 
bread 
pasta
orange juice
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eggs 
grapes
sandwiches 
tomatoes 
sweets
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l have a eggs . l have a same water .
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l have same grapes . 
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l don’t have any cheese .
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l have a sandwiches
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